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udent * a, Student * b)

_' b polat to the same student.\n™);

b point to different students.\n™);
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typedef struct TNode
struct TNode* right;
struct TNode* left;
Mt val
}TreeNode;
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typedef struct node{
double data;
efruct node "next;
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} Node;

M M O QYR QY 1007 "N
e (=Y /I 190 790 Y

OC(1) own moror O(N)

}

B IS 2] 41 15| 2 |

(2, 41, 15 :R7nMunnnanton) |

grT 18 | 1

l 3\ flll Iil 31 ,Hl hi +,1 ll‘ |‘-; 4 .

TR Ee

kinclude <stdio.h

int main ()

r
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Lt -L_-l‘;m.],"‘l‘j;

b=a+1l;

EErner("'The answel e RaA\N"Y, (char*) b-(cha
return 0;
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